RIGAUR

Level
Outcome 2
Subtracting Negatives
8 - (-3) & 17-(-9)
21-(-36) & 15-(-15)
-7 - (-5) & -17-(-8)

26-(-45) 8 -95-(-45)
-72-(-65) %@ -93-(-44)

¥ N 3-04a Homework 5
Outcome 1
Adding Negatives
» 7 + (-7) & 18 +(-12) =
« 4+(6) & 2+(9) -
5 18 + (-32) & 30+ (-65) F=1
4 -33 + (-47) 8 -16 +(-25) 4
8 -60+(-15) 4g -38+(-57) 2
Outcome 3
Multiplying Negatives
> 7%x6 & 1x(-1) =
e -4 x7 & -8 x (-3) -
& 6x(-2) & -3x(-3) -
4 -8 x (-7) 8 10x(-4) 4
o 5x3 &8 -9 x(-8) o

100 + 10 & 18+(-9)
30+ 6 & -36+(-4)
-4 -2 & 42+ (-7)
-55 + (-5) 8 -56+(-8)
-54 +9 &£Q -48+(-6)

Outcome 4

Dividing Negatives
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